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M.Com. DEGREE EXAMINATION – 

JUNE 2009.

(AY 2004–05 batch onwards)

Commerce

First Year

MANAGEMENT ACCOUNTING

Time : 3 hours Maximum  marks : 75

SECTION A — (3 × 5 = 15 marks)

Answer any THREE questions.

1. What is Fund Flow Statement? What are its uses?

|v Kmh AÔUøP GßÓõÀ GßÚ? Auß £¯ßPÒ ¯õøÁ?

2. Explain  the  importance  of  marginal  costing  in 

management Decision Making.

÷©»õsø©°À  |ºÁõP  ¬iöÁk¨£vÀ  CÖv|ø» 

AhUPÂø»U PnUQ¯¼ß ¬UQ¯zxÁzøu ÂÍUSP.

3. What is Standard Costing? Explain its’ objectives.
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uµ  AhUPÂø»  GßÓõÀ  GßÚ?  Auß  ÷{õUP[PøÍ 

ÂÍUSP. 

4. What are the merits and Limitations of Budgetary 

Control?

ÁµÄ  –  ö\»Äz  vmh  Pmk¨£õmiß  {ßø©PÒ  ©ØÖ® 

wø©PÒ ¯õøÁ?

5. What  are  the  factors  which  influence  Capital 

Expenditure Decisions?

¬u½mka ö\»ÄPÒ ¬iöÁk¨£vÀ uõUPzøu HØ£kzx® 

PõµoPÒ ¯õøÁ?

SECTION B — (4 × 15 = 60 marks)

Answer any FOUR questions.

6. From  the  following  information,  make  out  a 

statement of proprietor’s fund with as many details as 

possible.

(a) Current ratio – 2.5

(b) Liquid ratio – 1.5

(c) Proprietary ratio – 0.75 
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





′ FundssrProprieto

AssetsFixed

(d) Working Capital – Rs. 60,000

(e) Reserves and surplus – Rs. 40,000

(f) Bank overdraft – Rs. 10,000

(g) There is no long term loan or fictitious assets.

RÌUPõq®  ÂÁµ[PÎ¼¸¢x  E¶ø©¯õÍº  |v 

AÔUøPø¯  GÆÁÍÄ  ÂÁµ[PÐhß  uµ  ¬i²÷©õ, 

AÆÁÍÄ ÂÁµ[PÐhß u¯õº ö\´P.

(A) {h¨¦ ÂQu® – 2.5

(B) }ºø© ÂQu® – 1.5

(C) E¶ø© ÂQu® – 0.75

(|ø»a ö\õzxUPÒ/E¶ø©¯õÍº |v)

(D) {øh¬øÓ ¬uÀ –  ¹. 60,000

(E) Põ¨¦® E£¶²® –  ¹. 40,000

(F) Á[Q ÷©ÀÁøµ¨£ØÖ –  ¹. 10,000  

(G) }sh  Põ»  PhßP÷Íõ,  PsqUS  ¦»ÚõPõu 

ö\õzxUP÷Íõ CÀø».
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7. Priya  and  Co.  presents  the  following  Financial 

Statements for  2006 and 2007.  Prepare  a Funds flow 

statement.

Balance Sheet
Liabilities 2006 2007 Assets 2006 2007

Rs. Rs. Rs. Rs.

Bills payable 4,52,000 6,28,000 Cash 1,06,000 62,000

Creditors 8,26,000 12,54,00

0

Investment 1,74,000 –

Loan from Debtors 6,92,000 10,56,00

0

  Bank 2,00,000 4,70,000 Stock 8,64,000 13,66,00

0

Reserves and Net fixed

  Surplus 13,84,000 17,28,00

0

  assets 22,26,000 27,96,00

0

Share capital 12,00,000 12,00,00

0

40,62,000 52,80,00

0

40,62,000 52,80,00

0

Depreciation of Rs. 3,78,000 was written off for the year 

2007 on fixed assets.

¤¶¯õ ©ØÖ® ÷Põ–Âß 2006 ©ØÖ® 2007UPõÚ |v|
ø»  AÔUøP  R÷Ç  uµ¨£mkÒÍx.  |v  Kmh  AÔUøPø¯ 
u¯õº ö\´P.

C¸¨¦ |ø»U SÔ¨¦
ö£õÖ¨¦PÒ 2006 2007 ö\õzxUPÒ 2006 2007

¹. ¹. ¹. ¹.
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ö£õÖ¨¦PÒ 2006 2007 ö\õzxUPÒ 2006 2007

ö\¾zxuØS¶¯ öµõUP® 1,06,000 62,000

  ©õØÖa ^mk 4,52,000 6,28,000¬u½k 1,74,000 –

PhÜ¢÷uõº 8,26,000 12,54,000PhÚõÎPÒ 6,92,000 10,56,000

Á[QU Phß 2,00,000 4,70,000\µUQ¸¨¦ 8,64,000 13,66,000

¹. ¹. ¹. ¹.

Põ¨¦PÒ ©ØÖ® |Pµ |ø»a

  ªSvPÒ 13,84,000 17,28,000  ö\õzxUPÒ 22,26,000 27,96,000

£[S ¬uÀ 12,00,000 12,00,000

40,62,000 52,80,000 40,62,000 52,80,000

2007® BsiØS |ø»a ö\õzxUPÒ «x ¹. 3,78,000 

÷u´©õÚ® ÷£õUöPÊu¨£mhx. 

8. Sales Rs. 1,00,000 ; Profit Rs. 10,000 ; Variable Cost 

70%.

Find out :

(a) P/V Ratio

(b) Fixed Cost and

(c) Sales to earn a profit of Rs. 40,000.

ÂØ£øÚ  ¹.  1,00,000  ;  C»õ£®  ¹.  10,000  ;  ©õÖ® 

ö\»ÄPÒ 70% PnUQkP. 
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(A) C»õ£ £¸©ß ÂQu®

(B) |ø»¯õÚ ö\»ÄPÒ  

(C) ¹. 40,000 C»õ£® \®£õv¨£uØPõÚ ÂØ£øÚ. 

9. From the following particulars, calculate :

(a) Material price variance and

(b) Material usage variance and

(c) Material cost variance.

Material purchased – 3000 kgs at Rs. 6 per kg

Standard quality of Material 

fixed for one unit of finished 

product

– 25 kgs at Rs. 4 per kg.

Opening stock of Material – Nil

Closing stock of Material – 500 kgs

Actual output during the period – 80 units

RÌUPõq® ÂÁµ[PÎ¼¸¢x PnUQkP :

(A) ÷{µi¨ ö£õ¸mPÒ Âø» ©õÖ£õk

(B) ÷{µi¨ ö£õ¸mPÒ E£÷¯õP ©õÖ£õk ©ØÖ®

(C) ÷{µi¨ ö£õ¸mPÒ AhUPÂø» ©õÖ£õk

 ÷{µi¨ö£õ¸mPÒ öPõÒ¬uÀ – 3000 Q÷»õ Qµõ®,

 Q÷»õ Qµõ® JßÔß Âø» ¹. 6 

J¸ A»S ¬iÄ ö£ØÓ 
ö£õ¸ÐUS |ºn¯® ö\
´¯¨£mh uµ©õÚ AÍÄ

– 25 Q÷»õ Qµõ®, Q÷»õ Qµõ® 

JßÔß Âø» ¹. 4 
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÷{µi¨ ö£õ¸Îß Bµ®£ C¸¨¦ – CÀø»

÷{µi¨ ö£õ¸Îß CÖv C¸¨¦ – 500 Q÷»õ Qµõ®

|ºn°zu Põ»zvß Esø©¯õÚ 
EØ£zv

– 80 A»SPÒ 

10. Durga  Ltd.  plans  to  sell  for  the  next  year  

50,000 units of a particular product. Two kinds of raw 

materials ‘A’ and ‘B’ are required for manufacturing the 

product. Each unit of the product requires 20 units of  

‘A’ and 3 units of ‘B’. The estimated opening balances at 

the commencement of the next year are :

Finished product – 8000 units

Raw materials – ‘A’ 12,000 units, ‘B’ – 15,000 units

The desired closing balances at the end of the next year 

are :

Finished product – 6000 units

Raw materials – ‘A’ 13,000 units ‘B’ 16,000 units.

Draw up a raw materials purchase budget for the next 

year.
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xºPõ ¼ªöhm Á¸® BsiÀ 50,000 A»SPÒ J¸ 

SÔ¨¤mh  ö£õ¸øÍ  ÂØ£øÚ  ö\´¯  vmhªmkÒÍx. 

A¨ö£õ¸øÍ EØ£zv ö\´¯ ‘A’ ©ØÖ® ‘B’ BQ¯ Cµsk -

»¨ö£õ¸Ò  ÷uøÁ¨£kQÓx.  A¨ö£õ¸Îß  JÆöÁõ¸ 

A»QØS®  20  A»SPÒ  ‘A’  ©ØÖ®  3  A»SPÒ  ‘B’ 

÷uøÁ¨£kQÓx.  Á¸®  Bsiß  öuõhUPzvÀ 

Gvº£õºUS® öuõhUP C¸¨¦PÒ ¤ßÁ¸©õÖ :

¬Êø© ö£ØÓ ö£õ¸Ò – 8,000 A»SPÒ

»¨ ö£õ¸mPÒ – ‘A’ 12,000 A»SPÒ  

– ‘B’ 15,000 A»SPÒ 

Á¸®  Bsiß  CÖv°À  Gvº£õºUS®  CÖv 

C¸¨¦PÒ ¤ßÁ¸©õÖ :

¬Êø© ö£ØÓ ö£õ¸Ò – 6,000 A»SPÒ

»¨ ö£õ¸mPÒ – ‘A’ 13,000 A»SPÒ  

– ‘B’ 16,000 A»SPÒ 

Á¸®  BsiØPõÚ  »¨ö£õ¸Ò  öPõÒ¬uÀ  vmh 

AÔUøP u¯õº ö\´P.
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11. Each of the following projects requires a cash outlay 

of Rs. 10,000. You are require to suggest which project 

should be accepted if the standard pay–back period is 5 

years.

Year : Cash inflows

Project X Project Y Project Z

Rs. Rs. Rs.

1 2500 4000 1000

2 2500 3000 2000

3 2500 2000 3000

4 2500 1000 4000

5 2500 – –

 RÌUPõq®  ¬u½mkz  vmh[PÒ  JÆöÁõßÖ®
¹.  10,000  ¬u½k  ÷uøÁ¨£kQÓx.  vmh  ¬uÀ  v¸¨£® 
ö£Ö®  Põ»®  5  BskPÒ  GÛÀ,  G¢u  vmhzøu  ÷uº
¢öuk¨£x GßÖ AÔÄÖzxP.

BskPÒ : öµõUP EÒÁµÄPÒ

vmh® X vmh® Y vmh® Z

¹. ¹. ¹.
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1 2500 4000 1000

2 2500 3000 2000

3 2500 2000 3000

4 2500 1000 4000

5 2500 – –

12. (a) Calculate  break–even  point  from  the 

following :

Sales 1000 units at Rs. 10 each Rs. 10,000

Variable cost – Rs. 6 per unit

Fixed cost – Rs. 8,000

(b) If the selling price is reduced to Rs. 9, What is the 

new break – even point?    

(A) RÌUPõq®  ÂÁµ[PÎ¼¸¢x  C»õ£  {mh  ©ØÓ  |
ø»¨ ¦ÒÎø¯ PnUQhÄ®

ÂØ£øÚ 1000 A»SPÒ JÆöÁõßÖ® ¹. 10 Ãu® ¹. 
10,000

©õÖ£k® ö\»ÄPÒ – A»S JßÖUS ¹. 6.

|ø»a ö\õzxUPÒ – ¹. 8,000

(B) ÂØ£øÚ  Âø»  ¹.  9  BP  SøÓ¢uõÀ,  ¦v¯  C»õ£ 
{mh |ø»¨¦ÒÎ ¯õx?

————————
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